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— FTTINAW PITIOOR D52 90N WYOBN 27 7197 1Y
And so too did X'' prohibit by all the Torah prohibitions

OVERVIEW

The X2 concluded its discussion that it is X"7 who maintains 1"17 is 70X, by
citing a Xn>72 which states explicitly that X" would prohibit 3"17 by all 7MDK
7Mn2w. Our MdOIN has some difficulty with this conclusion.

= 90N D7) A AT NYIYN 2299 NYY N 1=)I7)A] 5937 yNRYN XNYN
It seems now that X'’ maintains that 3''13 is 299K in all instances.

nooIN asks:
= NN 932 XN 29Y NN WUPINT ©NH9AN 12 PYYWNRY 9992499 NI

And the X''2wn is astounded! If indeed this is true that X7 maintains that 3"17 is

always 70X, we have a question on X1°%7 92 K177 29 from our X713 here -
- 1AM JIYTYY N2 2239 PPNONN 3 (owr 3,5 41 PAOND 5 P92 NN NIINT

For we learnt in a Xnvm2 in 77790 nNoon in P9K7 ®2 pap, “all the animals which

are forbidden to be brought on the n2ar, their offspring are permitted’ to be
offered as a 7279 on the nam -
= 9OIN ATWIUN 229 NHY NI

And another 81392 commented on this that 8''S prohibits their M7 for the nam -
- 19393 91029 19255V NPITHN NINN 92 NN 29 NP

And n''ann states, the dispute between the 2121 (who permit) and X" (who
prohibits) is when the animals first became pregnant and afterwards they were

Y291 (they were involved in bestiality); the basis of their dispute is -
- 3v~mm 751 99271929 91922 1Y) DaN Ny 0N 9% 92)¥ 920 NYIUN 2297

That X''2 maintains the ‘fetus is the hip of its mother’; however if the animal
was first ¥271 and became pregnant later all agree (even &") that the M7 are

9091 to the mam -
:95 ‘03 O T WYX 1199 NPYN

! This refers to kosher animals but they performed certain acts (like bestiality, [or they were worshipped for 1"v]),
and therefore are unfit to be brought as a 727 on the nam.
* This means that the fetus is considered as an integral part of the mother, and is not considered as a separate entity.
Therefore since when the act of 7¥°27 took place there was a fetus, it is as if the fetus was also ¥273, therefore the
fetus (which is %X 77°) becomes mam? 7oK just like the mother. However the o°nam maintain X377 1K 77° W2 721w, but
rather we consider the fetus as a separate entity, so since it was the mother who engaged in 71¥277, but not the fetus,
therefore only the mother is 710X but not the fetus.
3 In this case it is obvious that the 92 had no part in the 7¥°27, therefore when it is born it is mam? .
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It is evident from 17"277 that according to »''137 X'' is NI, and here we say that 3"11
is 7MW P10k Y32 MOX. Our Moo offers no answer.”

SUMMARY

The ruling of n"277 regarding M721 of 172vN1 3"NKY W271w M2 (that the M7 are
nam M) contradicts our X723 which seems to indicate that X" maintains "1
AN PNONR 952 70K.

THINKING IT OVER

moon is of the opinion that in a case of 172 2"AXY W21 it is considered 2"11.°
However one may ask why is there a 07 of M0°X? Granted that the mother is
nam> 7oK, but why should we assume that this MoK transfers to the 79." In the
case of 7XI7T "X we can understand that since the 7XI7 70X migrated to
something, that item is also X172 MOR, because there is some part of IR *MOX
there, but by this type of nam» M0°k why should it be transferred to the 771?!°

* This (if 7772vn1 5"nRY vaM3) is a case of A"1V7; the 791 is born (and created) from the mother (who is 7710X) and the
father (who is 2nn). If we assume 2"17 is 7MN2W PNOX 752 MOK, this 771 should be mam? AMoOK since there is one
07 of M0°X here (namely the mother). See ‘Thinking it over’.
% See MDY in 22K 71"7 2,2 AMPN who answers that X"7 maintains MOX 3" in those 2*Mo°X which apply to all X W
(even o°u17), however by 1 0°R which apply only 71237 (for the nam), there X" maintains that 2nw 3"17.
% See footnote # 4.
7 See wn 7"7 2, MO who states (regarding 2%y naw) that it applies only to XpN7T X377 *N0°K. Perhaps the same is
true for 3"17.
¥ See 1% wM 7"7 77 w21 wITn. See also X'DW (who writes that if we maintain this X720 [that there is no o7 of
T10°K], then even if both parents of the 721 are nam? 110K, nevertheless the 791 will be nn).
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